



St. Louis County, Minnesota

Date of Report: 12/14/2025 1:22:45 PM

**General Details** 

 Parcel ID:
 141-0010-01046

 Document:
 Abstract - 783177

 Document Date:
 03/30/2000

**Legal Description Details** 

Plat Name: HIBBING

Section Township Range Lot Block

56 20

**Description:** S 100 FT OF N 200 FT OF LOT 3

**Taxpayer Details** 

Taxpayer NameGODWIN SHIRLEYand Address:3468 BUNKER RDHIBBING MN 55746

**Owner Details** 

Owner Name GODWIN SHIRLEY

Payable 2025 Tax Summary

2025 - Net Tax \$2,556.00

2025 - Special Assessments \$0.00

2025 - Total Tax & Special Assessments \$2,556.00

**Current Tax Due (as of 12/13/2025)** 

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$1,278.00	2025 - 2nd Half Tax	\$1,278.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$1,278.00	2025 - 2nd Half Tax Paid	\$1,278.00	2025 - 2nd Half Tax Due	\$0.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$0.00	

**Parcel Details** 

Property Address: 3468 BUNKER RD, HIBBING MN

School District: 701
Tax Increment District: -

Property/Homesteader: GODWIN, SHIRLEY M

	Assessment Details (2025 Payable 2026)										
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity				
201	1 - Owner Homestead (100.00% total)	\$25,400	\$186,700	\$212,100	\$0	\$0	-				
Total:		\$25,400	\$186,700	\$212,100	\$0	\$0	1846				





St. Louis County, Minnesota

Date of Report: 12/14/2025 1:22:45 PM

**Land Details** 

Deeded Acres: 3.00 Waterfront: Water Front Feet: 0.00

P - PUBLIC Water Code & Desc:

Gas Code & Desc:

P - PUBLIC Sewer Code & Desc: Lot Width: 0.00 Lot Depth: 0.00

The

dimensions shown are no s://apps.stlouiscountymn.					e found at ions, please email <mark>Property</mark>	Tax@stlouiscountymn.gov.
		Improve	ement 1 D	etails (HOUSE	:)	
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
HOUSE	1950	87	5	1,094	U Quality / 0 Ft <sup>2</sup>	RAM - RAMBL/RNCH
Segment	Story	Width	Length	Area	Founda	tion
BAS	1.2	25	35	875	BASEM	ENT
CN	1	4	7	28	FOUNDA	TION
DK	1	5	15	75	POST ON G	ROUND
DK	1	6	10	60	POST ON G	ROUND
Bath Count	Bedroom Co	unt	Room (	Count	Fireplace Count	HVAC
1.0 BATH	2 BEDROOM	MS	4 ROO	MS	-	CENTRAL, GAS
		Improver	ment 2 De	etails (GARAG	E)	
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
GARAGE	1950	89	6	896	-	DETACHED
Sogmont	Story	Width	Longth	Aroa	Founda	tion

		•		•	•	
Improvement Type	Year Built	Main Floor Ft <sup>2</sup>		Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.
GARAGE	1950	896		896	-	DETACHED
Segment	Story	Width	Length	Area	Foundation	n
BAS	1	28	32	896	FLOATING S	LAB

		improve	ement 3 L	Details (25X25)		
provement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.
RAGE BUILDING	1950	62	625		-	-
Segment	Story	Width	Length	Area	Foundat	ion
BAS	1	25	25	625	POST ON GF	ROUND
•	· ·	DRAGE BUILDING 1950  Segment Story	provement Type Year Built Main Flo DRAGE BUILDING 1950 62: Segment Story Width	provement Type Year Built Main Floor Ft <sup>2</sup> DRAGE BUILDING 1950 625  Segment Story Width Length	provement Type Year Built Main Floor Ft <sup>2</sup> Gross Area Ft <sup>2</sup> PRAGE BUILDING 1950 625 625  Segment Story Width Length Area	DRAGE BUILDING 1950 625 625 -  Segment Story Width Length Area Foundat

Improvement 4 Details (LONG SHED)									
Improvement Type	Year Built	Main Flo	or Ft 2	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.			
STORAGE BUILDING	1959	3,520		3,520	-	-			
Segment	Story	Width	Length	Area	Foundat	ion			
BAS	1	32	110	3,520	POST ON GROUND				

	Improvement 5 Details (SAUNA)										
Improvement Type Year Built		Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.					
	SAUNA	2002	12	8	128	-	-				
	Segment	Story	Width	Length	Area	Foundat	ion				
	BAS	1	8	16	128	FLOATING	SLAB				
	SPX	1	16	16	256	FLOATING	SLAB				





St. Louis County, Minnesota

Date of Report: 12/14/2025 1:22:45 PM

		Improv	ement 6 D	Details (13X22)							
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.					
STORAGE BUILDING	1948	28	6	286	-	-					
Segment	Story	Width	Length	Area	Foundation	on					
BAS	1	13	22	286	POST ON GR	OUND					
		Improveme	ent 7 Deta	ils (WOOD LNT	O)						
Improvement Type Year Built Main Floor Ft 2 Gross Area Ft 2 Basement Finish Style Code & De											
LEAN TO 1985 120 120											
Segment	Story	Width	Length	Area	Foundation	on					
BAS	1	8	15	120	POST ON GR	OUND					
Improvement 8 Details (FRONT SA)											
Improvement Type	Year Built	-		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.					
improvement Type	2002	25		256	-	PLN - PLAIN SLAB					
Segment	Story	Width			Foundation						
BAS	0	16	16	256	-						
5/10											
Improvement Type	Year Built	-		tails (Paver pati Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.					
improvement Type	near Built	Walli Fic		270	Dasement rinish	B - BRICK					
Segment	Story	Width	Length		Foundation						
BAS	0 0	<b>vvid</b> tii 15	Lengin 18	270	Foundation	) ii					
DAO	0	10	10	270	-						
		•		ails (Greenhous	•						
Improvement Type	Year Built			Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.					
STORAGE BUILDING	2024	77		77	-	-					
Segment	Story	Width	Length		Foundation						
BAS	1	7	11	77	POST ON GR						
DKX	1	3	7	21	POST ON GR						
DKX	1	4	14	56	POST ON GR	OUND					
		Improvem	ent 11 De	tails (Slab patio	o)						
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.					
	0	83		836	-	PLN - PLAIN SLAB					
Segment	Story	Width	Length	Area	Foundation	on					
BAS	0	8	13	104	-						
BAS	0	8	15	120	-						
BAS	0	13	32	416	-						
BAS	0	14	14	196	-						
Sales Reported to the St. Louis County Auditor											
		-		-							
Sale Date			Purchase	Price	CRV	Number					
Sale Date 03/2000			Purchase \$74,9			Number 3272					
				00	13						

3 of 4





St. Louis County, Minnesota

Date of Report: 12/14/2025 1:22:45 PM

		As	ssessment Histo	ry				
Year	Class Code ( <mark>Legend</mark> )	Land EMV	Bldg EMV	Total EMV	Def Land EMV	De Blo EM	lg	Net Tax Capacity
<b>-</b>	201	\$26,600	\$186,000	\$212,600	\$0	\$0	)	=
2024 Payable 2025	Total	\$26,600	\$186,000	\$212,600	\$0	\$0	)	1,852.00
	201	\$27,400	\$172,400	\$199,800	\$0	\$0	)	-
2023 Payable 2024	Total	\$27,400	\$172,400	\$199,800	\$0	\$0	)	1,805.00
	201	\$24,500	\$122,800	\$147,300	\$0	\$0	)	-
2022 Payable 2023	Total	\$24,500	\$122,800	\$147,300	\$0	\$0	)	1,233.00
	201	\$23,300	\$104,200	\$127,500	\$0	\$0	)	-
2021 Payable 2022	Total	\$23,300	\$104,200	\$127,500	\$0	\$0	)	1,017.00
		1	Tax Detail Histor	у				
Total Tax &  Special Special Taxable Building  Tax Year Tax Assessments Assessments Taxable Land MV MV Total Taxable								
2024	\$2,494.00	\$0.00	\$2,494.00	\$24,759	\$155,783	3	\$1	80,542
2023	\$1,928.00	\$0.00	\$1,928.00	\$20,511	\$102,806	6	\$1	23,317
2022	\$1,604.00	\$0.00	\$1,604.00	\$18,592	\$83,143	3	\$1	01,735

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.